BABRER

Imperial to metric units metric to lmperial unit
el il Nl Tyl
IMIL (Z23%~}) =25. 40M (1K) IMM (Z22K) =39. 37TMIL (Z9:~f)
IMIL (Z2955§) =0. 0254MM (&K) 1IMM (Z£2K)=0. 03937INCH (J£~})
1INCH (3£}) =25. 4MM (=K 1CM (JEE2K) =0. 3937 INCH ()
1TNCH (3~) =2. 54CM (JE>K) 1DM (432K) =3. 937INCH (F£~f)

1 m* CEK)=100d m* CFJ5402K)
ldm CEHAK) =100 ¢ m* CEJEK)
lem®* CEHEX) =100 mm* CPHFZ=X)

1 m*=100d m*=10, 000c m’=1, 000, 000m m’

1FEET (9 ) =12INCH (#~))
1INCH (£~}) =2. 54CM (JEK)
1INCH (5&~f) =25. 4MM (Z£K)
IMM (Z2K) =0. 03937INCH (Z&~])=39. 3TMIL (Z&<k~])

IMM (ZZ2K) =1000UM (4#K)  1INCH (¥:~)) =1000MIL (Z3~))

0. 507 (& ]) =H/HOZ=0. TMIL (ZZ~]) +10%=17. 5UM ($4CK) =150 73/ F- 75K (g/m?)
10Z (#5]) =1/107=1. AMIL (ZZ¥:~)) 4+ 10%=35UM ($4K) =305 72/ F- 75 K (g/m?)
207 (2 w))=2/207=2. MIL (ZZ3i~)) 4+ 10%=70UM (J4K) =610 va /75K (g/m?)

307 (#%7])=3/307=4. 2MIL (ZZ3~)) +10%=105UM (f3K) =915 73/~ F )5 K (g/m?)
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